VMEDS —_T7KE ERAVRY—H5T

2022 &£ 6 B 13 H (A)

BMEAE BIRNYT ETRTE * % *x ok x * x k% k x %
FTHUHIRE - PARX 3 N OUTO@R®@B®@D®® N INJAJ Jd d d d d d@
HDCPERR: (5) 40.0 (%) 40.0 EE: BAEI—R
gz BERE S uT | IN GROSS| HDCP | NET gz HEES uT | IN GROSS| HDCP | NET | Bt | mEBES [ oUT | IN | [GROSS| HDCP| NET |
B B =8 =7 53 46 99| 28.8| 70.2|AH M 1B E— 50 55 105 26.4| 78.6
B RE E— 46| 49 95 24.0| 7.0/ A% 4205 @A F08A 47| 56 103| 24.0| 79.0
ML A BIE 43/ 40 83 12.0| 71.0| A% A3 |FEFH EiK 52| 67 119] 40.0| 79.0
AL |k 218 46 41 87 15.6| 71.4/ A% A [BEFH AR 49| 52 101| 21.6 79.4
5(7 |48 A 45 48 93/ 21.6| 71.4/ A% 451 |&REE E5h 55| 51 106 26.4| 79.6
66 | BAE a1] a2 83 9.6 73.4/AH 46t |FXK FBHF 49| 51 100| 20.4| 79.6 HAE (BEAREI—X)
T |BHE 48| 47 95/ 21.6| 73.4/ A& A |[hF % 56/ 55 111) 31.2| 79.8 OUTRA—k INXZ—}
8 |# BB 45 49 94| 20.4| 73.6|AH 48f7 R BAME 53/ 51 104 24.0| 80.0 kSas No.7 Ak wE BH—
9L R MR 47/ 52 99| 25.2| 73.8/ AHE 4961 BRI BB 61 51 12| 31.2| 80.8 No.13 a8 EA R+ FER
1062 |shE  FlA 40 M 81 7.2| 73.8)BG AH 50 |®HE IEZ 54/ 51 105 24.0| 81.0|/RE No.2 b N £ 5/ 4 KEE E3h
N6 | KE B 50 54 104/ 30.0| 74.0 51 |8iA & 53| 58 111] 30.0| 81.0 e Mg an BE —
121 |=E & 50, 52 102 27.6| 74.4 52 |YRFH FOAR 53/ 55 108| 26.4| 81.6 —rEVE No.12 ——y R —
131% rfm A 43 41 84 9.6| 74.4 531% MEE BT 51| 56 107 25.2| 81.8 No17 T P
14 |=% B& 51 50 101 26.4| 74.6 54 KT [EF] 60| 58 118] 36.0| 82.0 RATARE ——
156 |&HE # 49| 52 101 26.4| 74.6 550 |AiE A 55/ 55 110 27.6| 82.4
166 | B Bk 47 46 93| 18.0 75.0 564 |k 64| 63 127| 40.0| 87.0/BB
176 | K& —% 43| 44 87 12.0| 75.0 5% |AB  #i 64 72 136 40.0| 96.0
1861 |&8 EF 43 48 91| 15.6] 75.4
196 |HE i 42| 48 90| 14.4| 75.6
2061 EK ¥ 48 47 95 19.2| 75.8|H
AR 4 53 54 107| 31.2| 75.8
26 |ME B 48 47 95| 19.2| 75.8
26 |HT B 54 53 107| 31.2| 75.8
46 |8l B 46| 48 94/ 18.0| 76.0
AL 41 47 88| 12.0 76.0
2661 /M ERK 50 48 98| 21.6| 76.4
2760 |MAE HPOF 62 54 116 39.6| 76.4
2861 |BA A 50 47 97| 20.4| 76.6
2061 |E# X 46| 45 91 14.4| 76.6
06 | TE EE 48 49 97| 20.4| 76.6|AH
3L |EA =k 45 52 97| 20.4| 76.6
320L |/ E— 46 49 95| 18.0/ 77.0
33 | TH 1B 51 49 100 22.8| 77.2
3 |BE ZEB 52| 52 104 26.4| 77.6
3560 |FEE  BHER 53/ 57 110/ 32.4| 77.6
/ML | =K HX 50 53 103| 25.2| 77.8
3L | =i 47 49 96/ 18.0| 78.0
3L |FEISH i 56 62 118 40.0| 78.0
396 I IER 61| 57 118| 40.0| 78.0
6 4

40 [fRE ORI 49 51 100 21.6| 78.

=
bl




